BATL.DOR

A MEMBER OF THE ABB GROUP

BALDORRELIANCENFR

Product Information Packet

EJMM3312T-G

10HP,3475RPM,3PH,60HZ,213JM,3728M,0PSB,F

Copyright © All product information within this document is subject to Baldor Electric Company copyright © protection, unless otherwise noted.

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCEF Product Information Packet: EIMM3312T-G - 10HP,3475RPM,3PH,60HZ,213JM,3728M,0PSB,F

Part Detail

Revision: - Status: PRD/A Change #: Proprietary: No

Type: AC Prod. Type: 3728M Elec. Spec: 37WGS633 CD Diagram:

Enclosure: OPSB Mfg Plant: Mech. Spec: 37M556 Layout:

Frame: 213JM Mounting: F1 Poles: 02 Created Date: 06-21-2012
Base: RG Rotation: R Insulation: H Eff. Date: 06-28-2012
Leads: #14 Literature: Elec. Diagram: Replaced By:

Nameplate NP1259L

CAT.NO. EJMM3312T-G

SPEC. 37M5565633G1

HP 10

VOLTS 208-230/460

AMP 25.6-24/12

RPM 3475

FRAME 213JM HZ 60 3
SER.F. 1.15 CODE G DES B | CL | H
NEMA-NOM-EFF 89.5 PF 86

RATING 40C AMB-CONT

CcC 010A USABLE AT 208V

DE 6309 ODE 6206

ENCL OPSB SN

Page 2 of 6 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCEF Product Information Packet: EIMM3312T-G - 10HP,3475RPM,3PH,60HZ,213JM,3728M,0PSB,F

Parts List

Part Number Description Quantity
SA246655 SA 37M556S633G1 1.000 EA
RA233547 RA 37M556S633G1 1.000 EA
S/P107-000-001 SUPER E PROC'S-FS & WS PLTS-POLYREX EM G 1.000 EA
HA6361A01 LIFTING LUG FOR 37, 39 & 40 FRAME (AUTOP 2.000 EA
37CB3006 37 CB CASTING W/1.38 LEAD HOLE @ 6:00 1.000 EA
51XW2520A10 .25-20 X .62, TAPTITE Il, HEX WSHR SLTD 2.000 EA
11XW1032G06 10-32 X .38, TAPTITE Il, HEX WSHR SLTD U 1.000 EA
37EP3200A31 FR ENDPLATE, 37L&M, OPEN, MACH, W/GREASE 1.000 EA
HA1104A01 RODENT SCREEN 37 FRAME 206 BRG FRONT END 1.000 EA
51XT1032A04 10-32X1/4 HX WA SL SR TYT (F/S) 4.000 EA
HW1000A10 #10 FLAT WASHER (SAE) 4.000 EA
HW4500A01 1641B(ALEMITE)400 UNIV, GREASE FITT 1.000 EA
HWA4500A17 317400 ALEMITE GREASE RELIEF 1.000 EA
HW5100A06 W2420-025 WVY WSHR (WB) 1.000 EA
BP5303A01 AEGIS SH GRD W/RETAINER RING, 309 BRG 1.000 EA
37EP3401A11 PUEP 309 BRG W/METAL SLINGER, GRS & RELI 1.000 EA
HA1222 RODENT SCREEN - 37 C-FACE MOTORS 4.000 EA
51XW1032A06 10-32 X .38, TAPTITE Il, HEX WSHR SLTD S 4.000 EA
HW1000A10 #10 FLAT WASHER (SAE) 4.000 EA
HW4500A01 1641B(ALEMITE)400 UNIV, GREASE FITT 1.000 EA
HWA4500A17 317400 ALEMITE GREASE RELIEF 1.000 EA
10XN2520A36 1/4-20X 2 1/4 HEX HD X 4.000 EA
HW1001A25 LOCKWASHER 1/4, ZINC PLT .493 OD, .255 | 4.000 EA
XY3118A12 5/16-18 HEX NUT DIRECTIONAL SERRATION 4.000 EA

Page 30f6 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDORRELIANCEF Product Information Packet: EIMM3312T-G - 10HP,3475RPM,3PH,60HZ,213JM,3728M,0PSB,F

Parts List (continued)

Part Number Description Quantity
37CB4516 LIPPED LID FOR 37 FRAME NEC KOBX 1.000 EA
51XW0832A07 8-32 X .44, TAPTITE Il, HEX WSHR SLTD SE 4.000 EA
HA2009A02 SLINGER MODEL 37 PUMP MOTORS-2.75 DIA. A 1.000 EA
HW2501D13SP KEY, 3/16 SQ X 1.375 1.000 EA
HA7000A01 KEY RETAINER 7/8" DIA SHAFT 1.000 EA
85XU0407S04 4X1/4 U DRIVE PIN STAINLESS 2.000 EA
LB1115 LABEL,LIFTING DEVICE 1.000 EA
MJ1000A75 GREASE, POLYREX EM EXXON 0.050 LB
MG1000Y03 WILKO 689.710 GOLD PAINT SUPER E 0.028 GA
HA3104A39 THRUBOLT-5/16-18 X 12.250 4.000 EA
37AD2001A01 BAFFLE PLATE, STAMPED 2.000 EA
LB1125C02 SUPER-E (STOCK CTN LABEL SUPER-E WITH FL 1.000 EA
LCOO005E01 CONN.DIA./WARNING LABEL (LC0005/LB1119) 1.000 EA
LB1357 ENERGY GUIDE LABEL (BOX LABEL) 1.000 SH
NP1259L ALUM SUPER-E UL CSA-EEV CC NEMA PREMIUM 1.000 EA
37PA1052 PACKAGING GROUP, 150 LB MTR 2 X 4 RUNNER 1.000 EA

Page 4 of 6 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800



BALDOR-RELIANCEF Product Information Packet: EIMM3312T-G - 10HP,3475RPM,3PH,60HZ,213JM,3728M,0PSB,F

717-735 = 18.19
736-744 = 19.31 9.57

© 7475571757056:*202-3581 425 7.92 ‘ 4 HOLES

ro} B B .50—13 TAP

g 25—~ [— %839 —| ‘88 KEYWAY UFTING LUG 4 ON 7.25 DIA B.C.

IS GREASE FITTINGS CHECTK gvg/}(éACE 1’69 LoNG (1 EACH END)

" 3.44 (EA. END) - ENDMILLED 45 45¢

1| _.s40 (KEY 1.38 LONG)
610
B / & b
 — | 7
; X X
m
70
10.03 & N
0 L
_ _ _ | _ _H - 10000 8.500 i - _ i |
i 9595 = gag7 907
o o
[ C—
8745_
[ — |‘ 8743
—
— 1.250 .38—16
1,238 (<)
—— . RH. TAP 3 _
[ s 5.25% gg
1T :

4.25 LEAD HOLEJ I 4.25 4.25 1
GREASE RELIEFS 1.38 DIA.

— .50 (EACH END) 6.72 4.75
9.50
SHAFT GROUNDING ———[/ —

PULLEY END DETAIL

9GSNATILE

CUSTOMER IS RESPONSIBLE FOR DETERMINING THAT BALDOR'S PRODUCT WILL PERFORM SUITABLY IN THE INTENDED APPLICATION.
REV. DESC: NEW
REV. LTR: — [VERSION: 00 [ TOR: 000000571421 BAIT.DOR

FILE: \AAA\00177\899 [REVISED: 01:00:05 12/15/2010 | BY: ENMATRO HORZ 213-5JM OPSB M W/AEGIS INT SHAFT GRD
MTL: — SH 1 of 1

Page 50f6 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800




BALDOR-RELIANCEF Product Information Packet: EIMM3312T-G - 10HP,3475RPM,3PH,60HZ,213JM,3728M,0PSB,F

CD0005
1-BLU
LOW VOLTAGE HIGH VOLTAGE
2y) (1Y)
4 5 6
4-YEL ot o5 &Ff
J—BRN
7
OPTIONAL 7 o8 o°f 8 40
THERMOSTATS
. 1 2 3 1 2 3
2
T J—BRN
8—RED
5-BLK LINE LINE
3-0RG 2—WHT
NOTES:
1. INTERCHANGE ANY TWO LINE LEADS TO REVERSE
ROTATION.
2. OPTIONAL THERMOSTATS ARE PROVIDED WHEN
SPECIFIED.
3. ACTUAL NUMBER OF INTERNAL PARALLEL CIRCUITS
MAY BE A MULTIPLE OF THOSE SHOWN ABOVE.
4. LEAD COLORS ARE OPTIONAL. LEADS MUST ALWAYS BE
NUMBERED AS SHOWN.
(@]
o
3
REV. DESC: REVISE TO SHOW OPTIONAL COLORS 3
REV. LTR: E |BY: JLP  |REVISED: 01/19/99 10:15 TDR: 0171435 BALDOR ELECTRIC CO' o
S000d0 ;";E iAA0000514O WBL: — 3PH, DV, 9 LEADS

Page 6 of 6 BAILDOR

A MEMBER OF THE ABB GROUP

For Baldor Sales and Support, Please Contact: Walker EMD - http://www.walkeremd.com ¢ Toll-Free: (800) 876-4444 « Phone: (203) 426-7700 « Fax: (203) 426-7800




